Bl OH H No.2 K E W E A ROEFHERE)

H AL H YA 4: 54 61 A 8 H 9H 104 114 12 1A 21 34
PN — — T = 5§l 55l = 5§ i} = 5 = i 5] [
| BREUREZ] 2 45 — 10:20 11:35 11:00 10:25 12:10 10:10 9:36 11:47 10:40 10:00 10:05 11:45 9:55
H | &R C — 14.8 22.0 22.1 24.1 28.0 24.0 14.7 11.2 13.2 10.9 1.4 10.2 11.0
B [ ki C — 14.0 15.2 17.0 15.9 15.5 16.0 15.9 14.8 15.8 14.7 12.7 15.0 14.8

IKFEAA PRI/ pH I E RFR ) — — - 7.5 - - 7.5 - - 7.4 7.4 - - 7.5 -
WAL R SR EER #(BOD) mg/L — - 0.5 AT — - 1.3 - - 1.6 - - - 0.7 -
W) S #8:(SS) mg/L — - 1 At - - 2 - - 6 1 ATt - - 3 -
n-~FH P E mg/L — - 0.5Ai ~ - 0.5 At - - 0.5 At - ~ - 0.5 A -
7x /) — V¥ mg/L — - 0. 2475 - - 0. 24l - ~ 0.2 A3 - — - 0. 24l -
& mg/L — - 0.005 i — — 0.005 A i - - 0.005 i ~ — - 0.005 A i -
qigh mg/L. — - 0.006 - - 0.013 - - 0.012 - - - 0.011 -
P e P B mg/L — - 0. 1A - - 0.1 A ~ - 0.4 - - - 0. 1A -
VRIRME~ T mg/L — - 0.1 A — - 0.1 At ~ - 0. 1A - — - 0. 1A -
EVA=IN mg/L — - 0.2l — - 0.2 A - - 0.2 A5 - — - 0. 247 -
FIRIT I mg/L. 0.003 - 0.0003 AT - - 0.0003 A1 - - 0.0003 A7 - - - 0.0003 At -
BT mg/L I dantey qWAN AN - s g - - misng - - s g - - - R g -
th mg/L 0.01 - 0.005 A7 - - 0.005 7l - - 0.005 A7l - - - 0.005 7 -
AV (iiZA=NA mg/L 0.05 - 0.01 A5 - - 0.01 A - - 0.01 A7t - ~ - 0.01 A -
[lies mg/L 0.01 ~ 0.005 Al — = 0.005 A i ~ — 0.005 AT - — - 0.005 A i -
Fa 7K R mg/L 0.0005 - 0.0005 A7 - - 0.0005 A7l - - 0.0005 A7l - - - 0.0005 At -
TV LK ER mg/L Aty qWAN AN - RS d - - RS g - - R sAad - - - A=Y % -
W[ ARV ke 7 ==L (PCB) mg/L RSz b - s g - - misng - - s g - - - s ng -
N 2=1= A% mg/L 0.01 ~ 0.001 Al — - 0.001 A5 - - 0.001 A5 ~ — - 0.001 At -
| 7oz FL mg/L 0.01 - 0.0005 At - - 0.0005 A1 - - 0.0005 At - - - 0.0005 At -
Bl Urmaaky mg/L 0.02 - 0.002 i - - 0.002 A - - 0.002 A7 - - - 0.002 A3t -
UL R 58 mg/L. 0.002 - 0.0002 K Jii - - 0.0002 A - - 0.0002 A - ~ - 0.0002 i -
g | ZonTFlLy mg/L 0.002 - 0.0002 i - - 0.0002 i - - 0.0002 i - - - 0.0002 i -
1,2-Y7unxXy mg/L 0.004 - 0.0004 A7 - - 0.0004 At - - 0.0004 At - - - 0.0004 At -
1,1-Y/noxcFL mg/L 0.1 - 0.002 A7t ~ . 0.002 A 3ii - — 0.002 i - — - 0.002 i -
H | 1,2-Y7ooxFL mg/L 0.04 ~ 0.004A:3ifi — - 0.004 A4 ~ — 0.004 At - — - 0.004 A5 -
1,1,1-Ryrmaaxi mg/L 1 - 0.0005 A7 - - 0.0005 A1 - - 0.0005 A7 - - - 0.0005Ait -
1,1,2-N)7maxi mg/L 0.006 - 0.0006 A7 - - 0.0006 A1 - - 0.0006 A7 - - - 0.0006 At -
1,3-Yr/aaraly mg/L. 0.002 ~ 0.0002 i — — 0.0002 A i - - 0.0002 i ~ ~ - 0.0002 it -
F75 I mg/L 0.006 - 0.0006 A - - 0.0006 A7 - - 0.0006 A7 - - - 0.0006 At -
e mg/L 0.003 - 0.0003 A7 - - 0.0003 A1 - - 0.0003 A7 - - - 0.0003 A -
FA R HNT mg/L 0.02 - 0.002 At — - 0.002 475 - - 0.002 i - — - 0.002 i -
_oPBr mg/L 0.01 - 0.001 A - - 0.001 A7 - - 0.001 A - - - 0.001 A7 -
L mg/L 0.01 - 0.002 A7 - - 0.002 A - - 0.002 A7 - - - 0.002 A7t -
EPES mg/L - - 0.01 At — - 0.01 i - - 0.01 A — — - 0.01 Al -
Lo mg/L - - 0.14 - - 0.14 - - 0.12 - - - 0.13 -
AP 22 58 o OVHR A e P 28 54 mg/L - - 1.2 - - 1.3 - - 1.4 - - - 1.3 -
1,4-A % mg/L 0.05 - 0.005 ATl ~ . 0.005 i - — 0.005 i - — - 0.005 it -
PER mg/L — - 1.3 - - 1.8 - - 1.4 - - - 1.3 -
&Ny mg/L. — - 0.029 - - 0.051 - - 0.056 - - - 0.092 -
wie A4 mg/L — 6.1 6.2 5.9 6.1 6.0 6.2 6.3 6.5 - 6.4 6.2 6.0 6.7
BRARE R mS/m — 17 17 17 17 17 17 17 17 18 18 18 18 18
HATFUHA pg-TEQ/L 1 - - - - - - - - 0.00090 - - - -
£ Hx H 4713 H 5H18H 6H21H TH19H 8H29H 9H14H 10H13A 117244 11H8H 12H15H 1H26H 2H19H 3H14H
pin = H 427H 671H TH5H 8H2H 97 12H 9728 H 107261 12H8H 127154 12H28H 2A8H 3A4H 3A21H

O =




